BIDAEN7-AM /L

B IR AOE- - SHREREH

KH100D / KH125-3/ KH180-3

@ HITACHI



g

i1

]

vy
Tt

D
L

Sl
T

L

VP2
LT
TG

{53
pELLT
St

7z
GEAZoAOELE
AE

7.

T

v

{8

R
it
Zf

"

il %

e
SO T
a




,'/

f.\ { %
T INY g ) \ _
D Eemdday UL,

/E’c-fﬂﬂ@/
REFDExIE S

()

BER<EN
EREES-EIREEET

MR R Z2IEHIL T 3T, BT
WD I At <, KiAs, Podiic e
Ak o i,

AN
DY LREATRAL.ItD
#HBNDOIESE

T — 2 K ) AR R (B L 22 ekt o — 3 >
7. Bl bV 3% DD AAMER
HEWIHEZ T,



(ERMEZT/HD
ZREEHFLE
A2 360" BRI g, SHUS kY. I
L bfib% B, LOifin s bitide s >
TIRBARHTE, MRBABULT LM
)% e, & Bz, Al LR, B
HoITE b A LT 2T,

HEH TR TENTF
oY) = ORI AN T B 2T,
ML, WA, B, 1Y)
—OEREL P H T AT,

B=—X (TR R ERE

WML > & > DR, &2 BWA>Y 7o)
M2 SIS, R KK IR T
37,

BHEDFERTREHLNES

EDNIE, HEOBIEAA YL BEGINGS
A7D7a—FT4rT—N%, Fii—
THUIES R ~<T ) » V2N LT3 T
DT, B HBRO T2 T, $iFNTT,

BB REHOTT 2 RERALT,
SR(EHN BT ZENTHIRE
T — A F ) AR REO 2RSS, AREoilkx
WICHi -7 F 2978237, 74, HIEHE
LN, EXEEEZm LR ET,

AOE - SREDRRIERE
RHETE b 7 T AREEOMNE - MITRIEZE Y 250 /<7 7 B
T, WioERAHRERS T RR AT R 3T,

BiP—ARVUIBHIES S URHIRELE (ijife s m)
Cl—m£H KH100D KHI125., KHI180.-,
]
#2.2
420
04— ——— | "‘"‘“‘-. ',"“‘""‘.'
o= - . —
50- —

E)AFLOFE@ERALLBSRI0mENENTUEN TN TALT,




KH100D

W2 ~EE it mm) MR
T—bL&E (m) 19
A HE1E (¢mm) | #3 1.700
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g ES ; HWBUE LI (m/min) | #3 (H)70 (©)35 | n—722
g | | 19U TI (m/min) | (8)70 ()35 | $22mm
P | F—£%E(f (m/min) | #3 60 o-—7#
F—LATS (m/min) 60 #14mm ()
KE[E] (rpm) 40
— SEFTFEAE (km/h) | 3 18
 [x—n-mst BEFH06C-T
I
g EHHD (PS/rpm) 150/2.000
'«3 - o HIFIzAb (1) 8.8(4.9+39)
x § o a—Ha (mm) 760
f = U (t) | = 430
3| @ T (kg/em?) 0.71
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sy bORRR (3R Y IR | U-VEAE | Nl | E MR I i
¢D1(nm) | ¢D2(mm) | $D3(mm) H (mm) (') (kg)

o105 1580 1,700 2,000 450 0.86 1,100

Y3 & od3 1,480 1,600 1,900 500 0.83 330
- it S | 1,380 1,500 1,800 650 0.94 900

A== /| 1,280 1,400 1,700 700 0.87 830

I 1,180 1.300 1,600 750 0.80 770

| 1080 | 1200 | 1500 300 080 730

ol . 980 1,100 1.400 900 057 655
esevis 880 1,000 1.300 300 054 430

780 900 1,200 900 0.42 450

680 800 1,100 300 033 390
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(m) [ 27 L0y F@ERA 65 (2740 10m)
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3.250(2.5900*

4.010(3.350

SN bEREE (pm) | #3 (830 (@15
1rgb Rl (m/min) | #3 (B)66 (&)33 | p—7i2
¥ o[ 7o h BT (mmin)|  (B)G6 (833 | $22mm
#| [ 8150 £1f (n/min) | +3 ()70 (@35 | 072
| | EOVETIS (m/min) | ()70 ()35 | $20mm
P | 7—L# Ll (m/min) | +3 60 o-7%
T—LBTFU (m/min) 60 ¢$14mm
EE (rom) 40
FETEE (km/h) | =3 18
T BEFHO6C-T
S (PS/rpm) 150/2.000
NI DAL (1) 116(58+58)
ra—0E (mm) 760
SR it (1) [+ 470
EE (kg/em’) 0.68
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W2 EEE it mm) MR
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ot (pm)| +3  (B)25 (@125
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| o[ BTHH (mimn)| (850 (&)25 | $26mm
#| L @80 L7 (o/min)| +3 ®)66 (®)33 [o—772
g3 BEONET (m/min) | (W)66 (1£)33 | $22Zmm
" E| F—s%Elf (m/min)| #3 60 o-7
F—LAETY (m/min) 60 $16mm
=] ﬁ@ {f[}m) 3.5
= g EFRE (h/h) | +3 5
% 5 o 2R B HEFEPI00T
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bl ® NII A (1) 159(75+8.4)
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AN R AR AR B EG
| 903 ¢D1(mm) | ¢D2(mm) | ¢D3(mm) | H(mm) (nr') (kg)
i 2.080 2.200 2500 600 183 2.110
yeg = & 1,980 2.100 2.400 700 1.94 2.050
| - i o 1.880 2,000 2.300 850 2.12 1.920
==L %‘ rAtps 1780 | 1900 | 2.200 900 201 1.810
T e o] 1.680 1800 | 2100 1.000 1.99 1.730
1580 1,700 2,000 1.050 1.85 1590
1.480 1,600 1.900 1.200 1.86 1,490
H o 1.380 1,500 1.800 1.300 1.75 1.460
1.280 1.400 1.700 1.400 162 1.400
I 1.180 1.300 1.600 1.500 1.48 1340
v LS 1,080 1,200 1,500 1,500 1.23 1.150
S/~ 980 1.100 1.400 1,500 1.02 1.000
2 ta ; Adl 880 | 1000 | 1300 | 1.500 082 830
780 900 1.200 1.500 0.64 620
680 800 1.100 1.500 0.49 540
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